

SHARP INEQUALITIES RELATED TO ONE-PARAMETER MEAN AND GINI MEAN

HONGYA GAO AND WENJUAN NIU

(Communicated by S. Abramovich)

Abstract. In the present paper, we answer the question: For $\alpha + \beta \in (0, 1)$, what are the greatest values p, s_1 and the least values q, s_2 such that the inequalities

$$J_p(a, b) \leq A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) \leq J_q(a, b)$$

and

$$G_{s_1,1}(a, b) \leq A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) \leq G_{s_2,1}(a, b)$$

hold for all $a, b > 0$ with $a \neq b$? where $J_p(a, b)$, $A(a, b)$, $G(a, b)$, $H(a, b)$ and $G_{s,1}(a, b)$ are the one-parameter mean, arithmetic mean, geometric mean, harmonic mean and Gini mean for two positive numbers a and b , respectively.

1. Introduction

For $p, s \in \mathbb{R}$, the one-parameter mean $J_p(a, b)$, Gini mean $G_{s,1}(a, b)$, arithmetic mean $A(a, b)$, geometric mean $G(a, b)$ and harmonic mean $H(a, b)$ of two positive numbers a and b are defined by

$$J_p(a, b) = \begin{cases} \frac{p(a^{p+1} - b^{p+1})}{(p+1)(a^p - b^p)}, & a \neq b, p \neq 0, -1, \\ \frac{a-b}{\log a - \log b}, & a \neq b, p = 0, \\ \frac{ab(\log a - \log b)}{a-b}, & a \neq b, p = -1, \\ a, & a = b, \end{cases} \quad (1.1)$$

$$G_{s,1}(a, b) = \left(\frac{a^s + b^s}{a + b} \right)^{\frac{1}{s-1}}, \quad s \neq 1, \quad (1.2)$$

$A(a, b) = \frac{a+b}{2}$, $G(a, b) = \sqrt{ab}$ and $H(a, b) = \frac{2ab}{a+b}$, respectively.

Mathematics subject classification (2010): 26D99.

Keywords and phrases: One-parameter mean, Gini mean, arithmetic mean, geometric mean, harmonic mean.

Research supported by National Natural Science Foundation of China (Grant No. 10971224) and Natural Science Foundation of Hebei Province (Grant No. A2011201011).

Recently, the one-parameter mean $J_p(a, b)$ and Gini mean $G_{s,1}(a, b)$ have been the subject of intensive research. In particular, many remarkable inequalities and properties for them can be found in the literature [1–8].

It is well-known that the one-parameter mean $J_p(a, b)$ is continuous and strictly increasing with respect to $p \in \mathbb{R}$ for fixed $a, b > 0$ with $a \neq b$. Many means are special cases of the one-parameter mean, for example

$$J_1(a, b) = \frac{a+b}{2} = A(a, b), \text{ the arithmetic mean,}$$

$$J_{\frac{1}{2}}(a, b) = \frac{a + \sqrt{ab} + b}{3} = H_e(a, b), \text{ the Heronian mean,}$$

$$J_{-\frac{1}{2}}(a, b) = \sqrt{ab} = G(a, b), \text{ the geometric mean,}$$

and

$$J_{-2}(a, b) = \frac{2ab}{a+b} = H(a, b), \text{ the harmonic mean.}$$

For $r \in \mathbb{R}$, let us introduce the power mean $M_r(a, b)$ of order r of two positive number a and b

$$M_r(a, b) = \begin{cases} \left(\frac{a^r+b^r}{2}\right)^{\frac{1}{r}}, & r \neq 0, \\ \sqrt{ab}, & r = 0. \end{cases}$$

The main properties of the power mean are given in [9]. In particular, $M_r(a, b)$ is continuous and strictly increasing with respect to $r \in \mathbb{R}$ for fixed $a, b > 0$ with $a \neq b$.

In [10], Alzer and Janous established the following sharp double inequality

$$M_{\frac{\log 2}{\log 3}}(a, b) < \frac{2}{3}J_1(a, b) + \frac{1}{3}J_{-\frac{1}{2}}(a, b) < M_{\frac{2}{3}}(a, b)$$

for all $a, b > 0$ with $a \neq b$.

In [11], Mao proved

$$M_{\frac{1}{3}}(a, b) \leq \frac{1}{3}J_1(a, b) + \frac{2}{3}J_{-\frac{1}{2}}(a, b) \leq M_{\frac{1}{2}}(a, b)$$

for all $a, b > 0$, and $M_{\frac{1}{3}}(a, b)$ is the best possible lower power mean bound for the sum $\frac{1}{3}J_1(a, b) + \frac{2}{3}J_{-\frac{1}{2}}(a, b)$.

In [12], Wang, Qiu and Chu proved

$$J_{3\alpha-2}(a, b) < \alpha A(a, b) + (1 - \alpha)H(a, b) < J_{\frac{\alpha}{2-\alpha}}(a, b) \tag{1.3}$$

for all $a, b > 0$ with $a \neq b$, and $J_{3\alpha-2}(a, b)$ and $J_{\frac{\alpha}{2-\alpha}}(a, b)$ are the best possible lower and upper one-parameter mean bounds for the sum $\alpha A(a, b) + (1 - \alpha)H(a, b)$.

For some results related to Gini mean, we refer the reader to [4] and the references therein.

The purpose of this paper is to answer the question: what are the greatest value p, s_1 and the least value q, s_2 such that the double inequalities

$$J_p(a, b) \leq A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) \leq J_q(a, b)$$

and

$$G_{s_1,1}(a, b) \leq A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) \leq G_{s_2,1}(a, b)$$

hold for all $a, b > 0$ with $a \neq b$ and $\alpha, \beta > 0$ with $\alpha + \beta < 1$?

2. Some Lemmas

In order to establish our main results, we need the following lemmas.

LEMMA 2.1. For $t > 1$, one has

$$g(t) = -(t^2 + 4t + 1)\log t + 3(t^2 - 1) < 0. \quad (2.1)$$

Proof. Simple computations lead to

$$\lim_{t \rightarrow 1^+} g(t) = 0, \quad (2.2)$$

$$g'(t) = -2(t+2)\log t + 5t - \frac{1}{t} - 4 \quad (2.3)$$

$$\lim_{t \rightarrow 1^+} g'(t) = 0, \quad (2.4)$$

$$g''(t) = -2\log t - \frac{4}{t} + \frac{1}{t^2} + 3, \quad (2.5)$$

$$\lim_{t \rightarrow 1^+} g''(t) = 0, \quad (2.6)$$

$$g'''(t) = \frac{-2(t-1)^2}{t^3} < 0. \quad (2.7)$$

(2.1) follows from (2.2)–(2.7). \square

LEMMA 2.2. For $t > 1$ and $0 < \lambda < 2$, let

$$g_{1,\lambda}(t) = (2-\lambda)t^{3\lambda-2} + \lambda t^{3(\lambda-1)} + 2(1-\lambda)t^{\frac{3\lambda}{2}} + 2(\lambda-1)t^{\frac{3\lambda-4}{2}} - \lambda t - 2 + \lambda.$$

Then

$$g_{1,\lambda}(t) \begin{cases} > 0, & \lambda \in (\frac{2}{3}, 1) \cup (\frac{4}{3}, 2), \\ < 0, & \lambda \in (0, \frac{2}{3}) \cup (1, \frac{4}{3}). \end{cases} \quad (2.8)$$

Proof. Simple computations lead to

$$g_{1,\lambda}(1) = 0, \tag{2.9}$$

$$g'_{1,\lambda}(t) = (2 - \lambda)(3\lambda - 2)t^{3(\lambda-1)} + 3\lambda(\lambda - 1)t^{3\lambda-4} + 3\lambda(1 - \lambda)t^{\frac{3\lambda-2}{2}} + (\lambda - 1)(3\lambda - 4)t^{\frac{3(\lambda-2)}{2}} - \lambda, \tag{2.10}$$

$$g'_{1,\lambda}(1) = 0, \tag{2.11}$$

$$g''_{1,\lambda}(t) = \frac{3}{2}t^{\frac{3\lambda-8}{2}} g_{2,\lambda}(t), \tag{2.12}$$

$$g_{2,\lambda}(t) = (\lambda - 1) \left[2(2 - \lambda)(3\lambda - 2)t^{\frac{3\lambda}{2}} + 2\lambda(3\lambda - 4)t^{\frac{3\lambda-2}{2}} - \lambda(3\lambda - 2)t^2 + (3\lambda - 4)(\lambda - 2) \right], \tag{2.13}$$

$$g_{2,\lambda}(1) = 0, \tag{2.14}$$

$$g'_{2,\lambda}(t) = t g_{3,\lambda}(t), \tag{2.15}$$

$$g_{3,\lambda}(t) = \lambda(3\lambda - 2)(\lambda - 1) \left[3(2 - \lambda)t^{\frac{3\lambda-4}{2}} + (3\lambda - 4)t^{\frac{3(\lambda-2)}{2}} - 2 \right], \tag{2.16}$$

$$g_{3,\lambda}(1) = 0, \tag{2.17}$$

$$g'_{3,\lambda}(t) = \frac{3}{2}t^{\frac{3\lambda-8}{2}} g_{4,\lambda}(t), \tag{2.18}$$

$$g_{4,\lambda}(t) = \lambda(3\lambda - 2)(\lambda - 1)(3\lambda - 4)(2 - \lambda)(t - 1) \begin{cases} > 0, \lambda \in (\frac{2}{3}, 1) \cup (\frac{4}{3}, 2), \\ < 0, \lambda \in (0, \frac{2}{3}) \cup (1, \frac{4}{3}). \end{cases} \tag{2.19}$$

Lemma 2.2 follows from inequalities (2.9)–(2.19). \square

LEMMA 2.3. For $t > 1$ and $\lambda \in (0, 2)$, one has

$$g_{5,\lambda}(t) = (2 - \lambda)t^\lambda + \lambda t^{\lambda-1} - \lambda t - 2 + \lambda \begin{cases} < 0, \lambda \in (0, 1), \\ > 0, \lambda \in (1, 2). \end{cases} \tag{2.20}$$

Proof. Simple computations yield

$$g_{5,\lambda}(1) = 0, \tag{2.21}$$

$$g'_{5,\lambda}(t) = \lambda \left[(2 - \lambda)t^{\lambda-1} + (\lambda - 1)t^{\lambda-2} - 1 \right], \tag{2.22}$$

$$g'_{5,\lambda}(1) = 0, \tag{2.23}$$

$$g''_{5,\lambda}(t) = \lambda(\lambda - 1)(2 - \lambda)t^{\lambda-3}(t - 1) \begin{cases} < 0, \lambda \in (0, 1), \\ > 0, \lambda \in (1, 2). \end{cases} \tag{2.24}$$

(2.20) follows from (2.21)–(2.24). \square

LEMMA 2.4. For $t > 1$ and $\lambda \in (0, 2)$, one has

$$g_{6,\lambda}(t) = (3 - \lambda)t^{\lambda-1} + (\lambda - 1)t^{\lambda-2} - (\lambda - 1)t + (\lambda - 3) \begin{cases} > 0, \lambda \in (0, 1), \\ < 0, \lambda \in (1, 2). \end{cases} \quad (2.25)$$

Proof. Simple computations yield

$$g_{6,\lambda}(1) = 0, \quad (2.26)$$

$$g'_{6,\lambda}(t) = (\lambda - 1) \left[(3 - \lambda)t^{\lambda-2} + (\lambda - 2)t^{\lambda-3} - 1 \right], \quad (2.27)$$

$$g'_{6,\lambda}(1) = 0, \quad (2.28)$$

$$g''_{6,\lambda}(t) = (\lambda - 1)(\lambda - 2)(\lambda - 3)t^{\lambda-4}(1 - t) \begin{cases} > 0, \lambda \in (0, 1), \\ < 0, \lambda \in (1, 2). \end{cases} \quad (2.29)$$

(2.25) follows from (2.26)–(2.29). \square

3. Main results

THEOREM 3.1. Let $0 < \alpha, \beta < 1$ satisfy $\alpha + \beta < 1$. Then for any $a, b > 0$ with $a \neq b$, we have

- (i) $J_{\frac{6\alpha+3\beta-4}{2}}(a, b) = A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) = J_{\frac{2\alpha+\beta-2}{2}}(a, b)$, for $2\alpha + \beta = 1$,
- (ii) $J_{\frac{6\alpha+3\beta-4}{2}}(a, b) < A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) < J_{\frac{2\alpha+\beta-2}{2}}(a, b)$, for $2\alpha + \beta \in (0, 1)$,
- (iii) $J_{\frac{2\alpha+\beta-2}{2}}(a, b) < A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) < J_{\frac{6\alpha+3\beta-4}{2}}(a, b)$, for $2\alpha + \beta \in (1, 2)$.

The numbers $\frac{6\alpha+3\beta-4}{2}$ and $\frac{2\alpha+\beta-2}{2}$ in (ii) and (iii) are optimal.

It is obvious that $A^\alpha G^\beta H^{1-\alpha-\beta} = A^\delta H^{1-\delta}$, where $\delta = \alpha + \frac{\beta}{2}$, $J_{\frac{6\alpha+3\beta-4}{2}} = J_{3\delta-2}$ and $J_{\frac{2\alpha+\beta-2}{2}} = J_{\delta-1}$. Therefore, the statement of Theorem 3.1 can be written as

THEOREM 3.1'. Let $0 < \delta < 1$. Then for any $a, b > 0$ with $a \neq b$, we have

- (i') $J_{3\delta-2}(a, b) = A^\delta(a, b)H^{1-\delta}(a, b) = J_{\delta-1}(a, b)$, for $\delta = \frac{1}{2}$,
- (ii') $J_{3\delta-2}(a, b) < A^\delta(a, b)H^{1-\delta}(a, b) < J_{\delta-1}(a, b)$, for $\delta \in (0, \frac{1}{2})$,
- (iii') $J_{\delta-1}(a, b) < A^\delta(a, b)H^{1-\delta}(a, b) < J_{3\delta-2}(a, b)$, for $\delta \in (\frac{1}{2}, 1)$.

The numbers $3\delta - 2$ and $\delta - 1$ in (ii') and (iii') are optimal.

It is obvious that

$$A^\delta(a, b)H^{1-\delta}(a, b) < \delta A(a, b) + (1 - \delta)H(a, b)$$

for all $a, b > 0$ with $a \neq b$ and all $0 < \delta < 1$. Combining Theorem 3.1' with (1.3) one obtain

COROLLARY 3.1. *Let $0 < \delta < 1$. Then for any $a, b > 0$ with $a \neq b$, we have*

$$\begin{aligned}
 J_{3\delta-2}(a, b) &< A^\delta(a, b)H^{1-\delta}(a, b) < \delta A(a, b) + (1 - \delta)H(a, b) \\
 &< J_{\frac{\delta}{2-\delta}}(a, b), \text{ for } 0 < \delta < \frac{1}{2}, \\
 J_{\delta-1}(a, b) &< A^\delta(a, b)H^{1-\delta}(a, b) < \delta A(a, b) + (1 - \delta)H(a, b) \\
 &< J_{\frac{\delta}{2-\delta}}(a, b), \text{ for } \frac{1}{2} < \delta < 1.
 \end{aligned}$$

Proof of Theorem 3.1. Without loss of generality, we assume $a > b$. Let $t = \frac{a}{b} > 1$ and $\lambda = 2\alpha + \beta$.

For $\lambda = 2\alpha + \beta = 1$, (i) follows from

$$\begin{aligned}
 J_{\frac{6\alpha+3\beta-4}{2}}(a, b) &= J_{\frac{2\alpha+\beta-2}{2}}(a, b) = J_{-\frac{1}{2}}(a, b) \\
 &= (ab)^{\frac{1}{2}} = \left(\frac{a+b}{2}\right)^\alpha (ab)^{\frac{\beta}{2}} \left(\frac{2ab}{a+b}\right)^{1-\alpha-\beta} \\
 &= A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b).
 \end{aligned}$$

We now prove that for $\lambda = 2\alpha + \beta = \frac{2}{3}$,

$$J_{\frac{6\alpha+3\beta-4}{2}}(a, b) < A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b). \tag{3.1}$$

In fact, let

$$\begin{aligned}
 f_1(t) &= \log J_{\frac{3\lambda-4}{2}}(a, b) - \log A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) \\
 &= \log \left[\frac{t \log t}{t-1} \right] - \frac{1}{3} \log \frac{2t^2}{t+1}.
 \end{aligned} \tag{3.2}$$

Simple computations lead to

$$\lim_{t \rightarrow 1^+} f_1(t) = 0, \tag{3.3}$$

$$f_1'(t) = \frac{g(t)}{3t(t+1)(t-1)\log t} < 0, \text{ for } t > 1, \tag{3.4}$$

here we have used Lemma 2.1, then (3.1) follows from (3.2)–(3.4).

In the following, we prove that for $\lambda = 2\alpha + \beta = \frac{4}{3}$,

$$A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) < J_{\frac{6\alpha+3\beta-4}{2}}(a, b). \tag{3.5}$$

In fact, let

$$\begin{aligned}
 f_2(t) &= \log J_{\frac{3\lambda-4}{2}}(a, b) - \log A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) \\
 &= \log \left[\frac{t-1}{\log t} \right] - \frac{1}{3} \log \frac{t(t+1)}{2}.
 \end{aligned} \tag{3.6}$$

Simple computations lead to

$$\lim_{t \rightarrow 1^+} f_2(t) = 0, \quad (3.7)$$

$$f_2'(t) = \frac{-g(t)}{3t(t^2 - 1)\log t} > 0, \quad (3.8)$$

here we have used Lemma 2.1. (3.5) follows from (3.6)–(3.8).

For $\lambda = 2\alpha + \beta \neq \frac{2}{3}$ or $\frac{4}{3}$, we prove

$$J_{\frac{6\alpha+3\beta-4}{2}}(a, b) < A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b), \quad \text{for } 2\alpha + \beta \in (0, 1), \quad (3.9)$$

and

$$A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) < J_{\frac{6\alpha+3\beta-4}{2}}(a, b), \quad \text{for } 2\alpha + \beta \in (1, 2). \quad (3.10)$$

Let

$$\begin{aligned} f_3(t) &= \log \left[J_{\frac{3\lambda-4}{2}}(a, b) \right] - \log \left[A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) \right] \\ &= \log \frac{(3\lambda - 4)\left(t^{\frac{3\lambda-2}{2}} - 1\right)}{(3\lambda - 2)\left(t^{\frac{3\lambda-4}{2}} - 1\right)} - (\lambda - 1)\log \frac{t+1}{2} - \frac{2-\lambda}{2}\log t. \end{aligned} \quad (3.11)$$

Then

$$\lim_{t \rightarrow 1^+} f_3(t) = 0, \quad (3.12)$$

$$f_3'(t) = \frac{g_{1,\lambda}(t)}{2t(t+1)\left(t^{\frac{3\lambda-4}{2}} - 1\right)\left(t^{\frac{3\lambda-2}{2}} - 1\right)}. \quad (3.13)$$

Since

$$\left(t^{\frac{3\lambda-4}{2}} - 1\right)\left(t^{\frac{3\lambda-2}{2}} - 1\right) \begin{cases} > 0, \lambda \in (0, \frac{2}{3}) \cup (\frac{4}{3}, 2), \\ < 0, \lambda \in (\frac{2}{3}, \frac{4}{3}). \end{cases} \quad (3.14)$$

then (3.9) and (3.10) follow from (3.11)–(3.14) and Lemma 2.2.

We now in a position to prove

$$A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) < J_{\frac{2\alpha+\beta-2}{2}}(a, b), \quad \text{for } 2\alpha + \beta \in (0, 1), \quad (3.15)$$

and

$$J_{\frac{2\alpha+\beta-2}{2}}(a, b) < A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b), \quad \text{for } 2\alpha + \beta \in (1, 2). \quad (3.16)$$

In fact, let

$$\begin{aligned} f_4(t) &= \log \left[J_{\frac{\lambda-2}{2}}(a, b) \right] - \log \left[A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b) \right] \\ &= \log \frac{(\lambda - 2)\left(t^{\frac{\lambda}{2}} - 1\right)}{\lambda\left(t^{\frac{\lambda-2}{2}} - 1\right)} - (\lambda - 1)\log \frac{t+1}{2} - \frac{2-\lambda}{2}\log t. \end{aligned} \quad (3.17)$$

Simple computations yield

$$\lim_{t \rightarrow 1^+} f_4(t) = 0, \tag{3.18}$$

$$f_4'(t) = \frac{g_{5,\lambda}(t)}{2t(t+1)(t^{\frac{\lambda}{2}} - 1)(t^{\frac{\lambda-2}{2}} - 1)}, \tag{3.19}$$

(3.15) and (3.16) follow from (3.17)–(3.19), Lemma 2.3 and the fact

$$\left(t^{\frac{\lambda}{2}} - 1\right) \left(t^{\frac{\lambda-2}{2}} - 1\right) < 0.$$

The inequalities (ii) and (iii) follow from (3.1), (3.5), (3.9), (3.10), (3.15) and (3.16).

At last, we prove that the parameters $\frac{2-\lambda}{2}$ and $\frac{3\lambda-4}{2}$ cannot be improved in either case. For $|\varepsilon| \ll 1$,

$$\begin{aligned} & \lim_{t \rightarrow +\infty} \frac{J_{\frac{\lambda-2}{2}+\varepsilon}(t, 1)}{A^\alpha(t, 1)G^\beta(t, 1)H^{1-\alpha-\beta}(t, 1)} \\ &= \lim_{t \rightarrow +\infty} \frac{(\lambda + 2\varepsilon - 2)(t^{\frac{\lambda+2\varepsilon}{2}} - 1)}{(\lambda + 2\varepsilon)(t^{\frac{\lambda+2\varepsilon-2}{2}} - 1) \left(\frac{t+1}{2}\right)^{\lambda-1} t^{1-\frac{\lambda}{2}}} = \begin{cases} +\infty, & \text{for } \varepsilon > 0, \\ 0, & \text{for } \varepsilon < 0. \end{cases} \end{aligned} \tag{3.20}$$

(3.20) implies that for $\varepsilon > 0$, there exists a sufficiently large $T_1 = T_1(\varepsilon, \alpha, \beta) > 1$, such that $J_{\frac{\lambda-2}{2}+\varepsilon}(t, 1) > A^\alpha(t, 1)G^\beta(t, 1)H^{1-\alpha-\beta}(t, 1)$ for $t \in (T_1, +\infty)$, and for $\varepsilon < 0$, there exists a sufficiently large $T_2 = T_2(\varepsilon, \alpha, \beta) > 1$, such that $A^\alpha(t, 1)G^\beta(t, 1)H^{1-\alpha-\beta}(t, 1) > J_{\frac{\lambda-2}{2}+\varepsilon}(t, 1)$ for $t \in (T_2, +\infty)$. In the end, for $|\varepsilon| \ll 1$,

$$\begin{aligned} & J_{\frac{3\lambda-4}{2}+\varepsilon}(1+x, 1) - A^\alpha(1+x, 1)G^\beta(1+x, 1)H^{1-\alpha-\beta}(1+x, 1) \\ &= \frac{1}{(3\lambda + 2\varepsilon - 2) \left[(1+x)^{\frac{3\lambda+2\varepsilon-4}{2}} - 1 \right]} \left\{ (3\lambda + 2\varepsilon - 4) \left[(1+x)^{\frac{3\lambda+2\varepsilon-2}{2}} - 1 \right] \right. \\ & \quad \left. - (3\lambda + 2\varepsilon - 2) \left[(1+x)^{\frac{3\lambda+2\varepsilon-4}{2}} - 1 \right] \left(\frac{2+x}{2} \right)^{\lambda-1} (1+x)^{\frac{2-\lambda}{2}} \right\} \\ &= \frac{1}{(3\lambda + 2\varepsilon - 2) \left[(1+x)^{\frac{3\lambda+2\varepsilon-4}{2}} - 1 \right]} \left[\frac{1}{24} (3\lambda + 2\varepsilon - 2)(3\lambda + 2\varepsilon - 4)\varepsilon x^3 + o(x^3) \right]. \end{aligned} \tag{3.21}$$

we know from (3.21) that for $\varepsilon > 0$, there exists a sufficiently small $\delta_1 = \delta_1(\varepsilon) > 0$, such that $J_{\frac{3\lambda-4}{2}+\varepsilon}(1+x, 1) > A^\alpha(1+x, 1)G^\beta(1+x, 1)H^{1-\alpha-\beta}(1+x, 1)$ for $x \in (0, \delta_1)$, and for $\varepsilon < 0$, there exists a sufficiently small $\delta_2 = \delta_2(\varepsilon) > 0$, such that $J_{\frac{3\lambda-4}{2}+\varepsilon}(1+x, 1) < A^\alpha(1+x, 1)G^\beta(1+x, 1)H^{1-\alpha-\beta}(1+x, 1)$ for $x \in (0, \delta_2)$. \square

THEOREM 3.2. *Let $0 < \alpha, \beta < 1$ satisfy $\alpha + \beta < 1$. Then for any $a, b > 0$ with $a \neq b$, we have*

$$(I) \quad G_{\frac{2\alpha+\beta-2}{2\alpha+\beta},1}(a,b) = A^\alpha(a,b)G^\beta(a,b)H^{1-\alpha-\beta}(a,b) = G_{2\alpha+\beta-2,1}(a,b),$$

for $2\alpha + \beta = 1$,

$$(II) \quad G_{\frac{2\alpha+\beta-2}{2\alpha+\beta},1}(a,b) < A^\alpha(a,b)G^\beta(a,b)H^{1-\alpha-\beta}(a,b) < G_{2\alpha+\beta-2,1}(a,b),$$

for $2\alpha + \beta \in (0, 1)$,

$$(III) \quad G_{2\alpha+\beta-2,1}(a,b) < A^\alpha(a,b)G^\beta(a,b)H^{1-\alpha-\beta}(a,b) < G_{\frac{2\alpha+\beta-2}{2\alpha+\beta},1}(a,b),$$

for $2\alpha + \beta \in (1, 2)$.

The numbers $\frac{2\alpha+\beta-2}{2\alpha+\beta}$ and $2\alpha + \beta - 2$ in (II) and (III) are optimal.

For $\delta = \alpha + \frac{\beta}{2}$, it is obvious that $G_{\frac{2\alpha+\beta-2}{2\alpha+\beta},1}(a,b) = G_{\frac{\delta-1}{\delta},1}(a,b)$ and $G_{2\alpha+\beta-2,1}(a,b) = G_{\frac{\delta-1}{\delta},1}(a,b)$. Therefore, the statement of Theorem 3.2 can be written as

THEOREM 3.2'. *Let $0 < \delta < 1$. Then for any $a, b > 0$ with $a \neq b$, we have*

$$(I') \quad G_{\frac{\delta-1}{\delta},1}(a,b) = A^\delta(a,b)H^{1-\delta}(a,b) = G_{2\delta-2,1}(a,b), \text{ for } \delta = \frac{1}{2},$$

$$(II') \quad G_{\frac{\delta-1}{\delta},1}(a,b) < A^\delta(a,b)H^{1-\delta}(a,b) < G_{2\delta-2,1}(a,b), \text{ for } \delta \in (0, \frac{1}{2}),$$

$$(III') \quad G_{2\delta-2,1}(a,b) < A^\delta(a,b)H^{1-\delta}(a,b) < G_{\frac{\delta-1}{\delta},1}(a,b), \text{ for } \delta \in (\frac{1}{2}, 1).$$

The numbers $\frac{\delta-1}{\delta}$ and $2\delta - 2$ in (II') and (III') are optimal.

Proof of Theorem 3.2. We assume $a > b$. Let $t = \frac{a}{b} > 1$ and $\lambda = 2\alpha + \beta$. For $\lambda = 2\alpha + \beta = 1$, (I) follows from

$$\begin{aligned} G_{\frac{2\alpha+\beta-2}{2\alpha+\beta},1}(a,b) &= G_{2\alpha+\beta-2,1}(a,b) = G_{-1,1}(a,b) \\ &= (ab)^{\frac{1}{2}} = \left(\frac{a+b}{2}\right)^\alpha (ab)^{\frac{\beta}{2}} \left(\frac{2ab}{a+b}\right)^{1-\alpha-\beta} \\ &= A^\alpha(a,b)G^\beta(a,b)H^{1-\alpha-\beta}(a,b). \end{aligned}$$

We now prove (II) and (III). In fact, let

$$\begin{aligned} f_5(t) &= \log [G_{\lambda-2,1}(a,b)] - \log [A^\alpha(a,b)G^\beta(a,b)H^{1-\alpha-\beta}(a,b)] \\ &= \frac{1}{\lambda-3} \log \frac{t^{\lambda-2}+1}{t+1} - \frac{2-\lambda}{2} \log t - (\lambda-1) \log \frac{t+1}{2}. \end{aligned} \tag{3.22}$$

Simple computations lead to

$$\lim_{t \rightarrow 1^+} f_5(t) = 0, \tag{3.23}$$

$$f'_5(t) = \frac{(\lambda - 2)g_6(\lambda, t)}{2(\lambda - 3)t(t + 1)(t^{\lambda-2} + 1)} \begin{cases} > 0, \lambda \in (0, 1), \\ < 0, \lambda \in (1, 2). \end{cases} \tag{3.24}$$

where we have used Lemma 2.4, and

$$\begin{aligned} f_6(t) &= \log \frac{G_{\frac{\lambda-2}{\lambda}}(a, b)}{A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b)} \\ &= -\frac{\lambda}{2} \log \frac{t^{\frac{\lambda-2}{\lambda}} + 1}{t + 1} - \frac{2 - \lambda}{2} \log t - (\lambda - 1) \log \frac{t + 1}{2}, \end{aligned} \tag{3.25}$$

$$\lim_{t \rightarrow 1^+} f_6(t) = 0, \tag{3.26}$$

$$f'_6(t) = \frac{(2 - \lambda)(t^{\frac{2\lambda-2}{\lambda}} - 1)}{2t(t + 1)(t^{\frac{\lambda-2}{\lambda}} + 1)} \begin{cases} < 0, \lambda \in [0, 1), \\ > 0, \lambda \in (1, 2]. \end{cases} \tag{3.27}$$

(II) and (III) follow from (3.22)–(3.27).

At last, we prove that the parameters $\frac{\lambda-2}{\lambda}$ and $\lambda - 2$ cannot be improved in either case. These will follow from

$$\begin{aligned} &\lim_{t \rightarrow +\infty} \frac{G_{\frac{\lambda-2}{\lambda} + \varepsilon, 1}(1, t)}{A^\alpha(1, t)G^\beta(1, t)H^{1-\alpha-\beta}(1, t)} \\ &= \lim_{t \rightarrow +\infty} \left\{ \left(\frac{1+t}{2t} \right)^{1-\lambda} \left(1 + t^{\frac{\lambda+\varepsilon\lambda-2}{\lambda}} \right)^{\frac{\lambda}{\varepsilon\lambda-2}} \left(\frac{1+t}{t} \right)^{\frac{\lambda}{2-\varepsilon\lambda}} t^{\frac{\varepsilon\lambda^2}{2(2-\varepsilon\lambda)}} \right\} \\ &= \begin{cases} +\infty, & \lambda \in [0, 1), \\ 0, & \lambda \in (1, 2]. \end{cases} \end{aligned}$$

and

$$\begin{aligned} &[G_{\lambda-2-\varepsilon}(1+x, 1)]^{3-\lambda+\varepsilon} - [A^\alpha(a, b)G^\beta(a, b)H^{1-\alpha-\beta}(a, b)]^{3-\lambda+\varepsilon} \\ &= \frac{1}{(1+x)^{\lambda-2-\varepsilon} + 1} \{ (2+x) - [(1+x)^{\lambda-2-\varepsilon} + 1] \} (1+x)^{\frac{(2-\lambda)(3-\lambda+\varepsilon)}{2}} \\ &\quad \times \left(1 + \frac{x}{2} \right)^{(\lambda-1)(3-\lambda+\varepsilon)} \\ &= \frac{1}{(1+x)^{\lambda-2-\varepsilon} + 1} \left[-\frac{(3-\lambda+\varepsilon)\varepsilon}{4} x^2 + o(x^2) \right] \end{aligned}$$

valid for $|\varepsilon| \ll 1$. \square

Acknowledgement

The authors would like to thank the referee of this paper for valuable suggestions.

REFERENCES

- [1] W. S. CHEUNG AND F. QI, *Logarithmic convexity of the one-parameter mean values*, Taiwanese J. Math. **11**, 1 (2007), 231–237.
- [2] F. QI, P. CERONE, S. S. DRAGOMIR AND H. M. SRIVASTAVA, *Alternative proofs for monotonic and logarithmically convex properties of one-parameter mean values*, Appl. Math. Comput. **208**, 1 (2009), 129–133.
- [3] N. G. ZHENG, Z. H. ZHANG AND X. M. ZHANG, *Schur-convexity of two types of one-parameter mean values in n variables*, J. Inequal. Appl. **2007**, Art. ID 78175, 10 pages.
- [4] P. A. HÄSTÖ, *A monotonicity property of ratios of symmetric homogeneous means*, J. Ineq. Pure Appl. **3**, 5 (2002), article 71.
- [5] E. B. LEACH AND M. C. SCHOLANDER, *Extended mean values*, Amer. Math. Monthly **85** (1978), 84–90.
- [6] E. B. LEACH AND M. C. SCHOLANDER, *Extended mean values*, II, J. Math. Anal. Appl. **92** (1983), 207–223.
- [7] L. E. PERSSON AND S. SJÖSTRAND, *On general Gini means and scales of means*, Results Math. **18**, 3-4 (1990), 320–332.
- [8] K. B. STOLARSKY, *The power and extended mean values*, Amer. Math. Monthly **87**, 7 (1980), 545–548.
- [9] P. S. BULLEN, D. S. MITRINOVIC AND P. M. VASIC, *Means and their inequalities*, D. Reidel Publishing Co., Dordrecht, 1988.
- [10] H. ALZER AND W. JANOUS, *Solution of problem 8*, Crux Math. **13** (1987), 173–178.
- [11] Q. J. MAO, *Power mean, logarithmic mean and Heronian dual mean of two positive number*, J. Suzhou Coll. Edu. **16**, 1-2 (1999), 82–85.
- [12] M. K. WANG, Y. F. QIU AND Y. M. CHU, *An optimal double inequality among the one-parameter, arithmetic and harmonic means*, Revue D'Analyse Numérique et de Théorie de L'approximation **39**, 2 (2010), 169–175.

(Received December 6, 2011)

Hongya Gao
College of Mathematics and Computer Science
Hebei University
Baoding, 071002
China

Wenjuan Niu
College of Mathematics and Computer Science
Hebei University
Baoding, 071002
China